
A-A

A

A

 NAME PLATE GOUDSMIT 125x401215.00407118

 STICK. PACEMAKER FORB. D=501000.20056117

 STICKER MAGN. CARD FORB. D=501000.20055116

 STICKER MAGNETIC FIELD 30mm1000.20027115

 MOUNTING PROXY SENSOR CRSMBR-5083.9900104114

 MOUNTING PROXY SENSOR CRSMBR-4083.9900105113

 SENSOR CRSMEO-4-K-LED-2483.9900106212

M6NUT, HEX M6 - A460.0300006411

M6 x 30SCREW, HEX SH M6 x 30 - A451.0306030410

M8 x 30SCREW, HEX SH M8 x 30 - A251.020803029

 STICKER SFD-080 GSME009276028

 TYPE PLATE FILTER SFN_ _ _E008645317

 FS150 GUIDING ROD D35A12094326

 FS150  MAGNET PLATE RODA12092725

 CF000 TOGGLE M12A14007744

 FS150 MAGNET PLATE ASSYA14017713

 FS150 EXTRACTOR  ASSYA14017512

 FS150 FILTER POT MILLINGA14015911

DimensionsDESCRIPTIONPART NUMBERQTYITEM

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

A A

B B

C C

D D

E E

F F

5-4-2013

A2

AvD

Description:

Date:

Drawn:

Extra info:

 All rights reserved. Reproduction is not permitted without
written permission of GOUDSMIT Magnetic Systems BV

ISO268; ISO1101; ISO2553

ISO 2768- mK

SFNG-150-IF-09E-HT-F1m-S-B-B

Sheet:

Drawn according:

General tolerance:

SSFNG15038

Part number:

Spare part:

Weight (kg):

File number:
Quick search:

Status:

Customer reference number:

C

False

73,5

Standard

SSFNG15038

FSN150

1

QTY MAT. NUMBER MAT. DESCRIPTION LENGTH (mm)

RAW

MAT.

WIDTH (mm)

Rev:

C

Rev:

REV DATE BY DESCRIPTION

A 16-10-2013 AvD

CLAMPING BLOCK (IN ITEM 9) AND MAGNET MOUNTS (IN ITEM 3) CHANGED

B 18-3-2014 AvD ITEM 4 REPLACED: A140077 WAS A120739

C 17-10-2018 CR TYPE PLATE AND WARNING STICKERS ADDED

3
9
0

22 (8x)

3
0
5

681 (PRODUCTION POSITION)

240PCD 

253428

4
1

0

2

(748)

5
0
,
8

Ø
 

1176 (CLEANING POSITION))

(255)(238)

168,3EN1092-1 DN150 (Ø )

134

1412

69 21
5

3

(748)

1383 x 46 = 

4
0

5
0

45°

285Ø

2
1
1
,
5

Ø

726

718

171516

8

46

922 x 46 = 

168,3EN1092-1 DN150 ( )

285

2
3
/
2

5
 
(
9
x
)

11 10


